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P. 270
11) d 13) b 34) 3, multiplicity of 1 -3, multiplicity of 1
1, multiplicity of 1 -1, multiplicity of 1
P. 283
2) a) 6 b) 6 c) 5
)
4)a)10 b)10 9 = 27( rYx -
6)ay4 b4 3
7) d 8) a 9) f 10) ¢ 1) b 12) e

13) x-int: (0,0) (-2,0) y-int: (0,0) tangent at (0,0) end behavior: y=-x 3
20) x-int: (0,0)(3,0) y-int: (0, 0) tangent at (0, 0) end behavior: y = x;) u
21) x-int: (2, }—3,0) y-int: (0,-24)  tangent at (2,0) end behavior: ‘\-:g

Ly 21.

(x*+ 4+ 6x%+ Ax+ 1)+ (x + 1)

Cot(;g:;c}('\)-
Long RIVIoR: ~, ( Synthetic Divison:_/
'&"Uf"q"‘ro&‘f‘lm—l 1464 | *J/

6 [ w23 -l
o \ T35
Ix® (x 1) h SO A |
3<(M)L'§zsi3><_

X
[(x+) ’.zs_;(.'j—

Oct 19-8:03 PM

Oct 19-8:13 PM

Leave space for all coefficients
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Using sym‘heﬂc division, determine whether the numbers are zeros of the polynomial funchon
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12,16, 19, 32, 34

Quiz Thursday
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